Name ,/41( Diff. Equations and Lin. Alg.
Math 3280
Quiz 3, Fall 2018

B. Peckham

Consider the following initial value problem.

ﬂ(t) = —2P(t), P(0) =2
dt
1. Find the general solution to the differential equation without the initial condition
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2. (1 pt) Use the general solution from any one of a-c and the initial condition P(0) = 2 to find
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the soution to the initial value problem.
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3. (2 pts) Use Euler’s method to numerically estimate the P(1.8) assuming P(t) is the solution
to the differential equation which satisfies the initial condition P(0) = 2. Use a time step of
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at repelling equilibria. Use the phase line to sketch a solution corresponding to the initial
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5. (2pts EC) Sketch a slope field including slope marks along the lines ¥ = 2,p=1,p= 0.5, =
—1. Sketch the solution on this slope field corresponding to P(0) = 2. Extend your solution

both forward and backward in time. [asz( Yourgpes -
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